Dear Lammps users,

I'm now studying the thermal conductivity of carbon nanotubes. I need to get the interfacial thermal resistance between carbon nanotubes but have difficulty in achieving my desired heat flux diagram, seen  in paper
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I have constructed the same model. My method is dividing the CNT into several tiny parts along the axial direction and use the "compute heat/flux" command to output the heat flux. Below is the concerning parts in my script.

################################################   divide the CNT along the axial direction
region            p1     block  INF  INF  INF  INF  -172.99  -133  units  box 
region            p2     block  INF  INF  INF  INF  -132.99  -93   units  box
region            p3     block  INF  INF  INF  INF  -92.99   -53   units  box
region            p4     block  INF  INF  INF  INF  -52.99   -13   units  box

region            p5     block  INF  INF  INF  INF  -12.99    15   units  box
region            p6     block  INF  INF  INF  INF  15.01     43   units  box
region            p7     block  INF  INF  INF  INF  43.01     71   units  box
region            p8     block  INF  INF  INF  INF  71.01     99   units  box
region            p9     block  INF  INF  INF  INF  99.01     127  units  box
region            p10    block  INF  INF  INF  INF  127.01    155  units  box
region            p11    block  INF  INF  INF  INF  155.01    183  units  box
region            p12    block  INF  INF  INF  INF  183.01    211  units  box

region            p13    block  INF  INF  INF  INF  211.01   251  units  box
region            p14    block  INF  INF  INF  INF  251.01   291  units  box
region            p15    block  INF  INF  INF  INF  291.01   331  units  box
region            p16    block  INF  INF  INF  INF  331.01   371  units  box

#######################################################################################
group             p1     region  p1 
group             p2     region  p2 
group             p3     region  p3 
group             p4     region  p4 
group             p5     region  p5 
group             p6     region  p6 
group             p7     region  p7 
group             p8     region  p8 
group             p9     region  p9 
group             p10    region  p10
group             p11    region  p11
group             p12    region  p12
group             p13    region  p13
group             p14    region  p14
group             p15    region  p15
group             p16    region  p16
group             p17   subtract  p5   2
group             p18   subtract  p6   2
group             p19   subtract  p7   2
group             p20   subtract  p8   2
group             p21   subtract  p9   2
group             p22   subtract  p10  2
group             p23   subtract  p11  2
group             p24   subtract  p12  2

###########################################################################


#omit the process of apply heat bath

#############################################################output heat flux files
fix               eout1   p1   ave/time  10000  1  10000  v_Jx  v_Jy  v_Jz  file  eout1.dat 
fix               eout2   p2   ave/time  10000  1  10000  v_Jx  v_Jy  v_Jz  file  eout2.dat
fix               eout3   p3   ave/time  10000  1  10000  v_Jx  v_Jy  v_Jz  file  eout3.dat
fix               eout4   p4   ave/time  10000  1  10000  v_Jx  v_Jy  v_Jz  file  eout4.dat

fix               eout13  p13  ave/time  10000  1  10000  v_Jx  v_Jy  v_Jz  file  eout13.dat
fix               eout14  p14  ave/time  10000  1  10000  v_Jx  v_Jy  v_Jz  file  eout14.dat
fix               eout15  p15  ave/time  10000  1  10000  v_Jx  v_Jy  v_Jz  file  eout15.dat
fix               eout16  p16  ave/time  10000  1  10000  v_Jx  v_Jy  v_Jz  file  eout16.dat

fix               eout17  p17  ave/time  10000  1  10000  v_Jx  v_Jy  v_Jz  file  eout17.dat
fix               eout18  p18  ave/time  10000  1  10000  v_Jx  v_Jy  v_Jz  file  eout18.dat
fix               eout19  p19  ave/time  10000  1  10000  v_Jx  v_Jy  v_Jz  file  eout19.dat
fix               eout20  p20  ave/time  10000  1  10000  v_Jx  v_Jy  v_Jz  file  eout20.dat
fix               eout21  p21  ave/time  10000  1  10000  v_Jx  v_Jy  v_Jz  file  eout21.dat
fix               eout22  p22  ave/time  10000  1  10000  v_Jx  v_Jy  v_Jz  file  eout22.dat
fix               eout23  p23  ave/time  10000  1  10000  v_Jx  v_Jy  v_Jz  file  eout23.dat
fix               eout24  p24  ave/time  10000  1  10000  v_Jx  v_Jy  v_Jz  file  eout24.dat
###################################################################

However, my diagram is so strange, seen in [image: image3.png]1.80E-008
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My target is to calculate the axial and cross-tube heat transfer (W) between two CNTs. 
Is there any thing wrong?

Best regards

Flyingstar

